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NEW
2018
Part II 3-Tier
BOTANY
PAPER—II
(General)
Full Marks : 90

Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Group—A

1. Answer any ten questions : : 10x2
(a}) What is antitranspirant ? Give an example.

{b} What are the differences between eustele and
atactostele ? '
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{c) What is chiasma ?

(d) Write the differences between nucleoside and
nucleotide,

(e} Write two physiological role of ethylene.

(i What is phylloclade ? Cite an example.

(g) Write the function of oxyzome.

{h} What is RQ ?

(1) Distinguish befween autcecology and synecology.

() Why mitochondria is called the ‘power house of cell’ ?
(k] What does it mean by secondary growth ?

() What are wood fibre and bast fibre ?

{(m) What is Go stage ?

(n) Name the purine and pyrimidine bases present in
DNA.

(o} Distinguish between apoenzyme and coenzyme,

Group—B-

2. Answer any five questions ; SX8

{a} Differentiate complete and incomplete linkage.
Mention the importance of linkage. 6+2
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(b) Give a concise account of photoperiodism. Write its
~ importance. What is florigen ? 5+2+1

(c) Define ethnobotany ? Discuss the implication of its
study in India. What does it mean by
ethnomusicology ? : 2+4+2

(d) Write down the causes of water pollution. What are
- the role of students in controlling water pollution ?
What is PAN? 4+3+1

(g':) What is cell cycle? Write the events in different
phases of cell cycle. 2+6

(f) Define ascent of sap. Discuss Cohesion-Tension
theory to explain the ascent of sap ? What is osmotic
pressure ? 2+5+1

(g) Describe different types of permanent tissues with
‘ suitable diagrams. 8

'(h) Deseribe with suitable diagram, the structure of -
nucleolus. What is the difference between mitosis and

meiosis ? What is histone ? ‘ 4+3+1
Group—C
3 Answer any two questions : ‘ 2x15

(a) Describe with suitable diagram, the intrastelar
secondary growth of a dicot stem. Write down the

differences between phellem and phelloderm.
(9+3)+3
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{b) What are monohybrid and dihybrid cross? Define
‘Law of Independent Assortment.” Explain the law of
Independent Assortment considering one hybrid cross
and show the phenotypic and genotypic ratios in F,
generation. 3+2+10

(c) (i) Write the adaptive features of xerophytes with
respects of morphology, anatomy and physiology.
‘ 3+3+3

(if) Write the differences between aneuploidy and
euploidy. Describe role of polyploidy in evolution.
' 3+3

(d) What are carbohydrates ? How are they classified ?
Give an account of the common carbohydrates found

in plants. What is B-Oxidation ? 2+3+8+2
(e} Distinguish between the following pairs : 5%3

{ii Ethnobotany and economic botany;

(i Fats and oils;

{iti) Fascicular and interfascicular cambium;

(iv) Flora and Fauna; and

{(v] Linkage and crossing over.
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